BEERIJIL XS

JL—H : 20235048 148

N
Ji

Fhob)—45357

HELA—IL 1.2.3.6.7.9  10.12.13.15.17.18
BHEAX . ¥Ry 7 AR L R—iL 1.2.3.5.7.8  11.12.13.15.16. 18
Nn—7% N—TE ’ N—7%t Nn—7% ‘
g2 E & 1 | 2 {GROSS| HDCP | NET || gt E # 1 | 2 {GROSS| HDCP | NET | et E & 11 2 |GROSS| HDCP | NET || MEf: K _ # 1.1 2 |GROSS| HDCP | NET
1 |B8 F= 43 | 41 84 [15.6 {68.4 51 [¢+8 LoX 48 | 51 99 {24.0 |75.0 || 101 |BH & 53 | 52 | 105 [27.6 |{77.4 || 151 |28 HVF 56 | 54 | 110 |28.8 [81.2
2 (Lo %7 40 } 45 | 85 |15.6 |69.4 52 (s =|EA 48 | 57 | 105 130.0 |75.0 || 102 |lu#d {E= 46 46 | 92 |44 (776 | 152 |y =3 56 {46 | 102 |20.4 [81.6
3 B WE 45 [ 44 | . 89 [19.2 169.8 53 |/hE  #RE 43 | 43 | 86 [10.8 |75.2 1 103 |&ur &i= 49 | 43 | 92 {14.4 |77.6 || 153 mE —g&p 64 | 49 | 113 |31.2 {81.8
4 |BR IE= 47 |39 | 86 [15.6 |70.4 54 (& B 47 | 51 98 [22.8 |75.2 ] 104 |kxm HupE 51 |53 ] 104 {26.4 |77.6 | 154 |4Pik Hm= 48 | 52 | 100 [18.0 |82.0
5 @ =4 47 150 | 97 [26.4 |70.6 56 |ElIl BA% 46 {52 | 98 122.8 [75.2 ) 105 |INE R 53 | 57 | 110 |32.4 |77.6 || 155 hiEgs —z= 56 | 66 | 122 |39.6 |82.4
6 (BF & 37 |39 | 76| 4.8|71.2 56 |lurh BEst 48 |50 | 98 [22.8 |75.2{ 106 |B% =H— 55 | 58 | 110 |32.4 [77.6 || 156 |¥ig %TF 46 | 57 | 103 [20.4 [82.6 |
7 {ux &% 43 | 44 | 87 (156 |71.4 57 |& R 117 50 [ 54 | 104 128.8 {75.2 0 107 | 56 | 54 | 110 §32.4 |77.6 | 157 |#RA I[E{= 55 | 53| 108 |25.2 |82.8
8 1A% BN 43143 | 86 |14.4 |T1.6 58 o iy 50 (54 | 104 [28.8 [75.2 1 108 |fE@ R 52 [ 51 | 103 }25.2 |77.8 ] 158 |sRiE ¥ 60 | 54 | 114 |31.2 |82.8
9 |HEH B2 42 |50 | 92 (20.4 |71.6 59 AUk Et 51 | 53 | 104 |28.8 |75.2 | 109 |&us — 51 |51 | 102 |24.0 |78.0 || 159 |1 {4 46 | 46 | 92 | 8.4 183.6
10 |#EK F&E 51 {47 | 98 [26.4 [71.6| 60 |[BA B 44 | 41 85 | 9.6 [75.4 1 110 |/vB Bhie 43 |52 ] 95 (16,8 |78.2 160 |k E—m 53 | 55 | 108 |24.0 [84.0
11 (#5 = 40 139 79| 7.2171.8 61 [k Hfb 45 | 46 | 91 [15.6 |75.4 || 111 [k BEmE 46 |49 ] 95 16,8 [78.2 ] 161 |[=m 4 58 | 66 | 124 |40.0 [84.0
12 |Eh %l 43 | M1 84 [12.0 {72.0 62 | K& IE— 50 [ 47 | 97 [21.6 |75.4 || 112 |fEx == 58 |49 | 107 128.8 |78.2 || 162 |%& IEE 58 | 63 | 121 |36.0 |85.0
13 |k#&%: A 41 (42| 83 (108 |72.2 63 |EH ® 47 |50 | 97 |21.6 |75.4 || 113 |5kes B 46 |48 | 94 |15.6 [78.4 | 163 |fEH BT 57 | 68 | 125 [40.0 |85.0
14 i EH# 44 | 45 | 89 (16.8 |72.2 64 |FRiB $Fsk 47 150 | 97 |21.6 |75.4 || 114 |/hE X4 51 149 | 100 |21.6 [78.4 || 164 kO & 49 1 61 | 110 |24.0 [86.0
15 (B #% 43 |45 | 88 |15.6 [72.4 65 |hH# E 47 150 | 97 {21.6 [75.4 | 115 &2k A 51 149 | 100 |21.6 |78.4 || 165 |HiE 5= 57 | 55 112 |25.2 | 86.8
16 @ 8, 48 1 52 | 100 [27.6 172.4 66 [KE 93 |50 | 103 |27.6 {75.4 | 116 (@it | 49 |50 | 99 |20.4 |78.6 || 166 |thi fmk 61 | 67 | 128 |40.0 [88.0
17 |g % 43 138 | 81| 8.4172.6 67 (pith  BH 50 | B3 | 103 |27.6 |75.4 (| 117 |B+d & 54 | 50 [ 104 |25.2 |78.8 || 167 |2 @— 68 | 67 | 135 |40.0 {95.0
18 |68 F2 45 1 42 | 87 [14.4|72.6 68 5@ & 40 (44 | 84| B.4|75.6(f 118 |Mx mx 45 | 58 | 103 {24.0 |79.0 || 168 |{RFE fe= 60 | 76 | 136 |40.0 [96.0
19 X BREA 43 144 | 87 [14.4 172.6 69 |JIF i 47 143 | 90 |14.4 |75.6 | 119 |k =¥ 51|58 | 109 |30.0 |79.0
20 |%EE i 41 1391 80| 7.2072.8 0 |HZE = 39 |38 | 771 1.2 |75.8( 120 |Bp mE 61 | 54 | 115 136.0 {79.0
21 @F %=X 44 | 471 91 [18.0 |73.0 n s R 48 (47 951019.2 |75.8 || 121 |tis #EZBh 39 | 51 80 {10.8 {79.2
22 \AR BBF 43 |49 1 97 [24.0|73.0 2 18N £=-— 53 | 48 | 101 {25.2 |75.8 || 122 |m@ch Ak— 53 148 | 101 |21.6 {79.4
23 |HE BT 39 (45§ 84 |10.8 |73.2 13 |BH mB 44 144 1 88 |12.0 |76.0 | 123 |@ IE& 53 [ 54 | 107 {27.6 {79.4
24 N+ |HR= 43 (477 90 [16.8 |73.2 M [RABR &£ 5T |43 | 94 |18.0 [76.0 || 124 | 5 59 |54 | 113 |33.6 |79.4
25 |Eig @k 48 |48 | 96 {22.8 |73.2 75 [y BT 55 | B7 | 112 {36.0 |76.0 || 125 |59 ®& 44 144 | 881 8.4|79.6
26 |FH B 41 1421 831 9.6 |73.4 16 |ZH% EE 42 {39 81| 4.8[76.2| 126 |k =% 52 154 | 106 {26.4 |79.6
27 |#BE =T 53 148 101 {27.6 [73.4 17 | = 49 |50 | 99 (22.8 |76.2 || 127 [hEE & 57155 [ 112 |32.4 |79.6
28 (Al KRR 41 {4 82| 8.4 |73.6 8\ 8] 97 |54t 111 [34.8 [76.2 || 128 |B\A 61 |51 | 112 132.4|79.6
29 |IAB #= 40 142 | 82| 8.4173.6 9 B E 48 |60 | 98 [21.6 |76.4 || 120 [ s&d 44 149 | 93 113.2(79.8
30 (AR BT 49 145 | 94 |20.4 [73.6 80 JB=E 54 150 | 104 [27.6 [76.4 | 130 [#v= mF 48 145 | 093 113.2]79.8
3 HER B2 50 | 50 | 100 |26.4 |73.6 81 |l FEF= 46 [ 45 | 91 {144 |76.6 || 131 s = 57 1 54 [ 111 {31.2 |79.8
32 |5l EEH 44 |43 | 87 )13.2 [73.8 82 |RH = 47 144 | 91 |14.4 |76.6 | 132 | BB =K 57 154 | 111 131.2|79.8
33 |sEn it 44 |43 | 87 }13.2 |73.8 83 | K& BA 42 j42 | 84| 7.2 (76.8) 133 |gE)I /A 44 153 | 97 116.8 |80.2
34 & K- 44 149 | 93 119.2 {73.8 84 |4t &3 47 (431 90 [13.2|76.8 || 134 |5+ =g 54 149 | 103 122.8 |80.2
35 |BF HER b1 | 54| 106 |31.2 |73.8 85 |/AK EER 49 | 47 96 119.2 | 76.8 135 |4k BF 48 | 65 | 103 |22.8180.2
36 [[RO &R 37143 | 80| 6.0|74.0 86 |[fhft A 5t {81 | 102 |25.2 [76.8 || 136 |#54& = 59 | 50 | 109 |28.8 |80.2
37 |18 1EX 46 |46 | 92 (18.0 {74.0 87 X BT 53 | 65 | 108 |31.2 |76.8 | 137 {=@E # 45 | 51 96 [15.6 |80.4
38 |EEE % 49 (49} 98 (24.0{74.0 88 |hiF EEX 43 |46 | 89 (12.0177.0|| 138 |&# &= 51151 | 102 {21.6 |80.4
39 (pt#E &t 49 |49 | 98 (24.0 |74.0 89 | KE gz 45 |50 | 95 (18,0 {77.0 | 130 (iBk = 50 | 52 | 102 {21.6 |80.4
40 |RE —% 50 | 54 1 104 [30.0 |74.0 90 [HLt E5-— 48 |47 | 95 118.0 |77.0{ 140 hum 2 59 149 | 108 [27.6 |80.4
4] |@miE ' 49 | 481 97 (22.8 |74.2 91 Bk =~ 45 | 50 | 95 [18.0 [77.0 || 141 |FE 2k 56 | 52 | 108 |27.6 |80.4
42 |BEH R 38140 | 78| 3.6 |74.4 92 |RIB Fnk o3 [ 54 | 107 [30.0 |77.0 || 142 ;BER A& 47 (42| 89| 8.4180.6
43 /e EH 46 [ 49 | 95 |20.4 |74.6 93 |z =T 52 | 55 | 107 [30.0 [77.0 | 143 |%=# st 48 | B3 | 101 [20.4 180.6
4 |58 W 55 [ 52 | 107 |32.4 |74.6 94 [P B 42 | 46| 88 {10.8 |77.2 || 144 {ZN EB— 55 152 | 107 |26.4 |80.6
45 \§EES M= 43 | 45| 88 |13.2 |74.8 95 W/ = B 50 |50 [ 100 122.8 |77.2 |1 145 |&FiE ED 57 | 56 | 113 |32.4 |80.6
46 | LtH B 45 | 49 94 119.2 [74.8 96 |JEE #F b8 [ B4 | 112 |34.8 177.2 146 BH #e 54 | 52 | 106 {25.2 [80.8
47 i EB 47 | 47 94 §119.2 |74.8 97 e+t HH 48 | 45 93 [15.6 {77.4 147 |shfd & 54 | 58 | 112 131.2 |80.8
48 |:BE HEF 45 | 49t 94 119.2 {74.8 98 |MEF AR 47 1521 99 121.6 |77.4{ 148 |H#EF BR 53 | 58 | 111 |30.0-|81.0
49 |BH Sl |49 151 ] 100 |25.2 {74.8 99 [dbiE BA 52 1 47 99 [21.6 [77.4 149 |K¥ BF 57 | 64 | 121 |40.0 [81.0
50 [IuE = 48 14571 93 [i8.0175.00 100 |&% m 53 146 | 99 [21.6 |77.4] 150 |igjE ==& 42 | 441 86| 4.8 |81.2




